OVR-202-LED INSTRUCTIONS
-

é SAFETY INSTRUCTIONS

2. Equipment should be mounted securely in locations and at heights where it will not be readily subjected

to tampering by unauthorized personnel. 3. Do not mount near gas or electric heaters. 4. Cap unused wires with enclosed wire nuts

or other approved method. 5. Do not use this equipment for anything other than its intended use. 6. The use of accessory
equipment not recommended by the manufacturer will void product listing and warranty and may cause an unsafe condition. 7. Use caution
when servicing batteries. 8. Any service on this equipment should be performed by qualified personnel only. 9. Make sure wire terminations
are secure and leads are properly tucked in appropriate wire channels. CONSULT A QUALIFIED ELECTRICIAN BEFORE INSTALLING

-
Caution: 3. ) i . )
Disconnect AC power before servicing and installation. Connect the cllp on the'flxture ‘Fo the spindle of the mou.ntlng plate to
All electrical connections must be in accordance with make.sure the. fixture will not sll.p and fall. annect th.e. line yoltage to
NEC/CEC or your local code. the wires commg out fro.m the fixture follgwmg the wiring dlagrém.
\_ Push the pressing plate into the suspension loop on the mounting
plate.

]

Connect the wires according
to the wiring diagram

SURFACE MOUNTED WITH J-BOX '::
1.

Loosen and remove the side M4 screws which used to fix the
mounting plate.

Wire Connection
Black Line

White O Neutral
Green/Yellow Green O Ground

Clip

Pressing plate

" \ Purple :
[ T _ \Y Gray O
g Note: Two dimming wires are in the driver box.
;/V 3 4
Mounting plate Lock the M4 screws to complete the intallation.

M4 Screws ’ e

2

Fi)Z the mounting plate to the ceiling with the screws.

PENDANT WITH 3/4" CONDUIT
1

Connect the line voltage to the wires coming out from the fixture
following the wiring diagram.

Note: Two dimming wires are in the driver box.

2.

Screw the fixture to the 3/4 inch conduit to complete the installation.

Catalog# OVR-202-LED
O.R.-Revision B: 3/13/20

& 323-888-1973 B4 techsupport@iuseelite.com @ www.iuseelite.com




